Aufgabe 8-1.
Abkiirzungen: 7 steht fiir int — int und I steht fir [f — (71 = 7) = 7,2 — (7 — 7)].

Nfy=(r—=1)—>r1 Nax)y=1—>r1
M) =r=r T eonsr W Tra o7
(V) =75 (App) TFfa: 7
(App) : :
(Fun) Fkax(fa): 7

F(fum fez=2(fa) : t—o1)—>7

Abkiirzung: I' steht fiir [f — (int — int),z — int].

I(z) = int
. . (Var) L(f) = fmt - .int ((\/Oa;)) Fkz:int (Const.) Pk 1:int
I'(z) = int (Var) I'(f) = int — int (App) ' f:int — int ' 'z —1:int
(Var) TEz: int (Const) TFO: int C 0 Ik f:int — int Pk f(z—1): int
(Op) I'-2=0:bool (Const) I'+1:int (Op) Pkax*x(f (x—1)): int
(1) (Fn) 'Fif x =0thenlelsexzx(f (z—1)): int
(Fn) [f— (int — int)]Ffnax = if x =0 then 1 else x x (f (x — 1)): int — int

Ffn f=fna=if t =0then 1l else z* (f (x —1)): (int — int) — (int — int)



